

#### Pay Estimate Created Date: January 4, 2021

Final Estimate N 15	umber			213-B06 ry Sapp & Sons, I		riod Start December riod End January 1	, 2021 Ne	iginal Contract Amount et Change Order Amount irrent Contract Amount	(\$62,294.57)		
Approval Date									By User		
December 14, 2021			Ge	enerated and App	roved (and	should be considered	Draft) at the	Project Office Level by	lincom		
December 15, 2021		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by holdtc									
December 17, 2021		Reviewed and Approved at the Central Office Controllers Office Level by ramses									
Original Compl	etion Da	ite	Current Comp	oletion Date	Actual	Completion Date	Current Contract Amoun	Current Contract Amount Complete			
November 1	, 2020		November	1, 2020	Octo	ober 23, 2020		100.00%			
	Co	ontract	Informational Dat	tes		Mileston	ies				
Date Description	on O	riginal	Completion Date	Current Comple	etion Date	No Milestones Exis	t for Contract				
Acceptance Date	0	ctober 2	23, 2020	October 23, 202	0						
Awarded Date	Ja	nuary S	, 2020	January 9, 2020							
Letting Date	De	ecembe	r 13, 2019	December 13, 2019							
Notice to Proceed	Date M	arch 9,	2020	March 9, 2020							
Open to Traffic Dat	te O	ctober 2	23, 2020	October 23, 202	0						
Work Began Date	Ju	ine 1, 2	020	June 1, 2020							

Contract Total Pa	ay For Estimate No. 15			
		This Estimate	Previous	To Date
191213-B06				
	Total Posted Items Pay	\$0.00	\$3,530,559.90	\$3,530,559.90
	Gross Item Adjustments	\$0.00	(\$17,412.32)	(\$17,412.32)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$3,513,147.58	\$3,513,147.58
<b>Contract Total Pa</b>	ayable This Estimate:	\$0.00		
Items Paid This E	stimate Period			
No Data Availab	ble			
Contract Adjustm	ents This Estimate			
No Contract Adjust	ments Exist on Contract			
Line Item Adjustm	nents This Estimate			
No Data Availab	ble			



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J2S3184	FAS S201(25)	Resurface	154	MONROE	from Route 24 at Paris to 0.4 miles west of Route 107								
J2S3210	FAS S201(28)	Resurface	154	MONROE	from 0.4 mile West of Route 107 to Route 19 near Perry								

#### Totals by Job Numbers

184	This Estimate	Previous	To Date	
Posted Item Pay	\$0.00	\$2,523,503.28	\$2,523,503.28	
Gross Item Adjustments	\$0.00	(\$12,047.07)	(\$12,047.07)	
Gross Item Pay	\$0.00	\$2,511,456.21	\$2,511,456.21	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damages	\$0.00	\$0.00	\$0.00 \$0.00	
Other Contract Adjustments	\$0.00	\$0.00		
210	This Estimate	Previous	To Date	
Posted Item Pay	\$0.00	\$1,007,056.62	\$1,007,056.62	
Gross Item Adjustments	\$0.00	(\$5,365.25)	(\$5,365.25)	
Gross Item Pay	\$0.00	\$1,001,691.37	\$1,001,691.37	
		<b>*</b> 0.00	\$0.00	
Incentive	\$0.00	\$0.00		
Incentive Disincentive	\$0.00 \$0.00	\$0.00	\$0.00	



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the t	time the Es	stimate was				
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-B06	J2S3184	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$8,000.00	\$8,000.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	9.00	0.00	9.00	100F	9.00	\$1,235.00	\$11,115.00
		0001	0030	3049910	MISC.TYPE 1 AGGREGATE FOR SHOULDER	6,911.30	-1,877.80	5,033.50	TONS	5,033.50	\$19.00	\$95,636.50
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	26.00	36.00	62.00	TONS	62.00	\$135.00	\$8,370.00
		0001	0050	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	17,256.00	-394.50	16,861.50	TONS	16,861.50	\$54.50	\$918,951.75
		0001	0060	4011213	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-3)	6,552.20	223.90	6,776.10	TONS	6,776.10	\$58.00	\$393,013.80
		0001	0070	4079912	MISC.LOW-TRACK/NON-TRACK TACK COAT	20,865.00	1,025.00	21,890.00	GAL	21,890.00	\$3.25	\$71,142.50
		0001	0080	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0090	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	6,224.00	130.00	6,354.00	SQYD	6,354.00	\$115.00	\$730,710.00
		0001	0100	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	623.00	-623.00	0.00	SQYD	0.00	\$1.00	\$0.00
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	623.00	-623.00	0.00	SQYD	0.00	\$1.00	\$0.00
		0001	0120	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	23,340.00	0.00	23,340.00	LF	23,340.00	\$2.75	\$64,185.00
		0001	0130	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	15,560.00	0.00	15,560.00	EA	15,560.00	\$3.35	\$52,126.00
		0001	0140	6161005	CONSTRUCTION SIGNS	1,020.00	336.00	1,356.00	SQFT	1,356.00	\$8.00	\$10,848.00
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$50.00	\$200.00
		0001	0160	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	10.00	\$27.00	\$270.00
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	182.00	0.00	182.00	EA	182.00	\$22.00	\$4,004.00
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	-2.00	0.00	EA	0.00	\$915.00	\$0.00
	IN			6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	1.00	0.00	1.00	EA	1.00	\$3,400.00	\$3,400.00
		0001	0200	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$60,000.00	\$0.00
		0001	0201	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$42,210.00	\$42,210.00
		0001	0210	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	140,965.00	0.00	140,965.00	LF	140,965.00	\$0.12	\$16,915.80
		0001	0220	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	73,547.00	0.00	73,547.00	LF	73,547.00	\$0.11	\$8,090.17
		0001	0230	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,834.00	169.00	4,003.00	SQYD	4,003.00	\$8.25	\$33,024.75
		0010	0240	6061074	MGS HEIGHT AND BLOCK TRANSITION	8.00	0.00	8.00	EA	8.00	\$800.00	\$6,400.00
		0010	0250	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	8.00	\$3,200.00	\$25,600.00
		0001	5001	6189901	MISC.Contract Bond	0.00	1.00	1.00	LS	1.00	\$17,790.00	\$17,790.00
	Project J2	2S3184 - To	otal Value	Posted to D	ate as of Report Generated Date	_						\$2,523,503.27
	J2S3210	0001	0260	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$3,500.00	\$3,500.00
		0001	0270	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	8.00	\$925.00	\$7,400.00
		0001	0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	88.00	84.00	172.00	TONS	172.00	\$100.00	\$17,200.00
		0001	0290	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	13,822.40		12,098.60	TONS	12,098.60	\$58.75	\$710,792.75
		0001	0300	4011213	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-3)	632.30	-632.30	0.00	TONS	0.00	\$77.90	\$0.00
		0001	0310	4079912		11,588.00	-623.00	10,965.00	GAL	10,965.00	\$3.25	\$35,636.25
		0001	0320	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.00
		0001	0330	6161005		942.00	96.00	1,038.00	SQFT	1,038.00	\$8.00	\$8,304.00
		0001	0340	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0350	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	10.00	\$28.00	\$280.00
		0001	0360	6161025		207.00	0.00	207.00	EA	207.00	\$22.00	\$4,554.00
		0001	0370	6161040								\$0.00
		0001	0380	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	1.00	0.00	1.00	EA	1.00	\$3,400.00	\$3,400.00
		0001	0390	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$18,500.00	\$18,500.00
		0001	0400	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	95,642.00	0.00	95,642.00	LF	95,642.00	\$0.12	\$11,477.04
		0001	0410	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	53,502.00	0.00	53,502.00	LF	53,502.00	\$0.11	\$5,885.22

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-B06	J2S3210				MARKING PAINT, TYPE P BEADS							
		0001	0420	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	12,843.00	-9,158.00	3,685.00	SQYD	3,685.00	\$1.00	\$3,685.00
		0001	0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,821.00	0.00	1,821.00	SQYD	1,821.00	\$13.00	\$23,673.00
		0010	0440	6061060	MGS GUARDRAIL	125.00	0.00	125.00	LF	125.00	\$29.00	\$3,625.00
		0010	0450	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	6.00	0.00	6.00	EA	6.00	\$2,950.00	\$17,700.00
		0010	0460	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	6.00	\$2,950.00	\$17,700.00
		0001	5101	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	0.00	1,015.00	1,015.00	TONS	1,015.00	\$77.15	\$78,307.25
		0001	5102	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	0.00	9,158.00	9,158.00	SQYD	9,158.00	\$2.45	\$22,437.10
		0001	5103	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	0.00	1.00	1.00	SQYD	1.00	\$11,400.00	\$11,400.00
	Project J	2S3210 - To	otal Value	Posted to D	Date as of Report Generated Date							\$1,007,056.61
191213-B06 Ove	rall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$3,530,559.88



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3184	0030	MISC. AGGREGATE FOR BASE	Material		10	Oct 15, 2020	SYSTEM	\$14,166.40	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$14,166.40)	
					11	Nov 2, 2020	SYSTEM	\$95,636.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Nov 2, 2020	SYSTEM	(\$95,636.50)	
					12	Nov 16, 2020	SYSTEM	\$95,636.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Nov 16, 2020	SYSTEM	(\$95,636.50)	
					13	Dec 2, 2020	SYSTEM	\$95,636.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					13	Dec 2, 2020	SYSTEM	(\$95,636.50)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0030 -	Total						\$0.00	
	0040	GRAVEL (A) OR CRUSHED	)		11	Nov 2, 2020	SYSTEM	(\$8,370.00)	
		STONE (B)			12	Nov 16, 2020	SYSTEM	\$8,370.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user wilsod2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Nov 16, 2020	SYSTEM	(\$8,370.00)	
					13	Dec 2, 2020	SYSTEM	\$8,370.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					13	Dec 2, 2020	SYSTEM	(\$8,370.00)	
				- Total				(\$8,370.00)	
			Material - Tota	al				(\$8,370.00)	
			MaterialCredit		12	Nov 16, 2020	SYSTEM	\$8,370.00	
				- Total				\$8,370.00	
		<b>T</b> -4-1	MaterialCredit	- Total				\$8,370.00	
	0040 - 0050	BIT. PAVEMENT	Material		10	Oct 15,	SYSTEM	\$0.00 \$914,875.70	This adjustment offsets the original system-generated Overrun Payment
		MIXTURE PG64-22 (BP-2)			10	2020	OVOTEM	(0044.075.70)	Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$914,875.70)	
					11	Nov 2, 2020	SYSTEM	\$755,451.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user wilsod2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					11	Nov 2, 2020	SYSTEM	(\$755,451.75)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Other Item Adjustment	ACAD		Dec 3, 2020	wilsod2	(\$32,669.16)	This adjustment is for BP2 20-60 from estimate #009. Current index was 395 and base index was 457.50.
				ACAD - Tota	al			(\$32,669.16)	
				SMAB		Dec 2, 2020	wilsod2	\$36,291.82	EBL = \$17897.57 Log Mile 0.017 to Log Mile 13.341 WBL = \$18394.25 Log Mile 0.017 to Log Mile 13.341
				SMAB - Tota	al			\$36,291.82	
			Other Item Ad	justment - To	tal			\$3,622.66	
	0050 -	Total						\$3,622.66	



Dec 27, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3184	0060	BIT. PAVEMENT MIXTURE PG64-22 (BP-3)	Other Item Adjustment	ACAD	13	Dec 3, 2020	wilsod2	(\$15,669.73)	This adjustment is for BP3 20-61 from estimate #009. Current index was 395 and base index was 457.50.
		1 004 22 (B1 0)		ACAD - Tota	al			(\$15,669.73)	
			Other Item Ad	justment - To	tal			(\$15,669.73)	
	0060 -	Total						(\$15,669.73)	
	0090	FURN & PLACE CONC MATL FOR FULL	Material		2	Jun 16, 2020	SYSTEM	(\$210,898.50)	
		DEPTH			3	Jun 30, 2020	SYSTEM	\$404,489.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jun 30, 2020	SYSTEM	(\$404,489.50)	
					4	Jul 15, 2020	SYSTEM	\$642,608.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jul 15, 2020	SYSTEM	(\$642,608.50)	
					5	Aug 3, 2020	SYSTEM	\$715,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Aug 3, 2020	SYSTEM	(\$715,760.00)	
				- Total				(\$210,898.50)	
			Material - Tota	1				(\$210,898.50)	
			MaterialCredit	terialCredit		Jun 30, 2020	SYSTEM	\$210,898.50	
				- Total				\$210,898.50	
			MaterialCredit	- Total				\$210,898.50	
	0090 -	Total						\$0.00	
	0130	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		2	Jun 16, 2020	SYSTEM	(\$15,359.75)	
					3	Jun 30, 2020	SYSTEM	\$29,456.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Jun 30, 2020	SYSTEM	(\$29,456.55)	
					4	Jul 15, 2020	SYSTEM	\$46,799.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment
					4				Estimate Exception 2 on the current Payment Estimate.
					7	Jul 15, 2020	SYSTEM	(\$46,799.50)	Estimate Exception 2 on the current Payment Estimate.
					5		SYSTEM	(\$46,799.50) \$52,126.00	Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
						2020 Aug 3,		, , , , , , , , , , , , , , , , , , ,	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment
					5	2020 Aug 3, 2020 Aug 3,	SYSTEM	\$52,126.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment
					5	2020 Aug 3, 2020 Aug 3, 2020 Aug 17,	SYSTEM SYSTEM	\$52,126.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total	5 5 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			Material - Tota		5 5 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			Material - Tota MaterialCredit		5 5 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00) (\$52,126.00) (\$15,359.75)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5 5 6 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17, 2020 Jun 30,	SYSTEM SYSTEM SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00) (\$52,126.00) (\$52,126.00) (\$15,359.75) (\$15,359.75)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				l - Total	5 5 6 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17, 2020 Jun 30,	SYSTEM SYSTEM SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00) (\$52,50,50) (\$52,50) (\$	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0130 -	Total	MaterialCredit	l - Total	5 5 6 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17, 2020 Jun 30,	SYSTEM SYSTEM SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00) (\$52,126.00) (\$52,126.00) (\$15,359.75) (\$15,359.75) \$15,359.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0130 - 0250	Total TYPE A CRASHWORTHY END TERMINAL	MaterialCredit	l - Total	5 5 6 6	2020 Aug 3, 2020 Aug 3, 2020 Aug 17, 2020 Aug 17, 2020 Jun 30,	SYSTEM SYSTEM SYSTEM SYSTEM	\$52,126.00 (\$52,126.00) \$52,126.00 (\$52,126.00) (\$52,126.00) (\$15,359.75) (\$15,359.75 \$15,359.75 \$15,359.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.



Dec 27, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3184	0250	TYPE A CRASHWORTHY	Material	- Total				\$0.00	
		END TERMINAL (MASH)	Material - Tota	ıl				\$0.00	
	0250 -	Total						\$0.00	
J2S3184 -	Total							(\$12,047.07)	
J2S3210	0280	GRAVEL (A) OR CRUSHED STONE (B)	Material		10	Oct 15, 2020	SYSTEM	\$8,100.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$8,100.00)	
					11	Nov 2, 2020	SYSTEM	\$17,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					11	Nov 2, 2020	SYSTEM	(\$17,200.00)	
					12	Nov 16, 2020	SYSTEM	\$17,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					12	Nov 16, 2020	SYSTEM	(\$17,200.00)	
					13	Dec 2, 2020	SYSTEM	\$17,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user wilsod2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					13	Dec 2, 2020	SYSTEM	(\$17,200.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0280 -	Total						\$0.00	
	0290	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Material		9	Sep 30, 2020	SYSTEM	\$710,789.22	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Sep 30, 2020	SYSTEM	(\$710,789.22)	
					10	Oct 15, 2020	SYSTEM	\$240,789.22	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user wilsod2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$240,789.22)	
					11	Nov 2, 2020	SYSTEM	\$240,792.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user wilsod2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					11	Nov 2, 2020	SYSTEM	(\$240,792.75)	
				- Total				\$0.00	
			Material - Tota	d				\$0.00	
			Other Item Adjustment	ACAD	13	Dec 3, 2020	wilsod2	(\$23,441.04)	This adjustment is for BP2 20-60 from estimate #009. Current index was 395 and base index was $457.50.$
				ACAD - Tota	al			(\$23,441.04)	
				SMAB	13	Dec 2, 2020	wilsod2	\$18,075.79	EBL = \$8621.49 Log Mile 13.341 to Log Mile 22.398 WBL = \$9454.38 Log Mile 13.341 to Log Mile 22.398
				SMAB - Tota	al			\$18,075.79	
			Other Item Ad	justment - To	tal			(\$5,365.25)	
	0290 -	Total						(\$5,365.25)	
	0310	MISC. NON STANDARD TACK COAT	Material		8	Sep 16, 2020	SYSTEM	\$16,006.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Sep 16, 2020	SYSTEM	(\$16,006.25)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0310 -	Total						\$0.00	
	0440	MGS	Material		9	Sep 30,	SYSTEM	\$3,625.00	This adjustment offsets the original system-generated Overrun Payment



Dec 27, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S3210	0440	GUARDRAIL	Material			2020			Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Sep 30, 2020	SYSTEM	(\$3,625.00)	
					10	Oct 15, 2020	SYSTEM	\$3,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user wilsod2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$3,625.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0440 -	Total						\$0.00	
	0460	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		9	Sep 30, 2020	SYSTEM	\$17,700.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user wilsod2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Sep 30, 2020	SYSTEM	(\$17,700.00)	
					10	Oct 15, 2020	SYSTEM	\$17,700.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user wilsod2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Oct 15, 2020	SYSTEM	(\$17,700.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0460 -	Total						\$0.00	
	5103	TYPE 1 AGGREGATE FOR BASE (4 IN.	Material		13	Dec 2, 2020	SYSTEM	\$11,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		THICK)			13	Dec 2, 2020	SYSTEM	(\$11,400.00)	
				- Total				\$0.00	
			Material - Tota	ial - Total					
	5103 -	Total						\$0.00	
J2S3210 -	Total							(\$5,365.25)	
Overall - 1	Total							(\$17,412.32)	